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& COMPREHENSION S
w short passages. After each pas 'You are required 0 select

Directions : Intlu‘ssectum you have a ﬁ
nd answer the items. based on zt

based on the passage. First, read a passage a
your answers based on the contents of the passage @

WHRS
nd opinion of the author pnly

2. A significan ¢ number of people were sent o
thet work from agriculture because

Passage - 1
carry out 0 .
insufficient agricultura]

‘Not all agricultural  societies bécomé (a) there were
civilizations, but no civilization can become one products.
without passing through the stage of agriculture. (b) people were needed 1o
This is because at some stage in the development of ~ monumen We"l"mste"wne"y ettt
agriculture, as productivity i 1mproves, not all people (c) &bere £ Wém suﬁcxent agrxcul ]
would need to be engaged in producing or procuring P’Pd

food. A significant number of people could be freed i) this enahled the ‘development of.
cmhzahons. - !

up ,pumue‘ other actmtxes such as bmldmw























































to her maid.

(a) The }ady asked her ‘maid where she had

‘been the previous evening.
(b) The lady ‘asked her maid where she had
been in the last evening.

(e) The‘lady asked her maxd where ‘had she “

The lady told‘her mmd where she Had

116. “Where were you last evening ?” sa(dthelnd'y 119. The villagé chief said to the villagers, “Allog

us need to adopt new regulations. We wil]

.pmtect,:our'Earth'fdtﬁvﬁti" P,

(a) The village chief ordered the
that all of them needed to adopt 1
regulations and they would prote
Earth forever.

(d)  The vi




